ACCY 121 – A Sample of Possible Quiz Questions from Horngren Chapter 11
· Assuming no other use of their facilities, the highest price that XYZ Company should be willing to pay for ______ units of the part is:

· Assuming Product C is discontinued and the space formerly used to produce Product C is rented for $______ per year, operating income will (increase/decrease) by $________.

· Assuming there is no other use for the facilities, XYZ Company should (make/buy) the part because ________________________.

· For XYZ Company, what is the minimum acceptable price of this one-time-only special order?

· How many of each product should be produced per month using the short-run profit maximizing strategy?

· If a company has excess capacity, the most it would pay for buying a product that it currently makes would be the:

· If capacity is constrained, the opportunity cost of buying Part A from the supplier is:

· If Model X is dropped from the product line, operating income will (increase/decrease) by $________.

· If Product Line X had been discontinued prior to this year, the effect on profits would be:

· If there are ______ machine-hours available per week, how many units of each model should XYZ Company produce to maximize profits?

· If there is a machine breakdown, which model is the most profitable to produce?

· If there is excess capacity, the opportunity cost of buying Part A from the supplier is:

· If there is excess capacity, which model is the most profitable to produce?

· If XYZ Company accepts the offer from the outside supplier, the monthly avoidable costs (costs that will no longer be incurred) total:

· If XYZ Company could produce and sell either ______ units of Product A or _______ units of Product C at full capacity, it should produce and sell:

· If XYZ Company decides to purchase the auto, the BEST estimate of the opportunity cost of that decision is:

· If XYZ Company purchases ______ from the outside supplier per month, then its monthly operating income will (increase/decrease) by $________.

· If XYZ Company purchases ______ parts from the outside supplier per month, then its monthly operating income will (increase/decrease) $_________.

· In the short term, the incremental cost of one unit is:

· Opportunity cost(s):

· Should XYZ Company accept the one-time-only special order if only absorption-costing data are available?

· The contribution per machine-hour is:

· The cost NOT relevant for this decision is the:

· The maximum price that XYZ Company should be willing to pay the outside supplier is:

· Unit cost data can MOST mislead decisions by:

· What are the relevant costs for XYZ Company?

· What is the change in operating profits if the one-time-only special order for ______ units is accepted for $______ a unit by XYZ Company?

· What is the full cost of the product per unit?

· What is the lowest price per unit XYZ Company should bid on this long-term order?

· What is XYZ Company's change in operating profits if the special order is accepted?

· What should XYZ Company do? What are XYZ Company’s savings in the first year?

· When a firm has constrained capacity as opposed to surplus capacity, opportunity costs will be:

· When evaluating a make-or-buy decision, which of the following does NOT need to be considered?

· Which of the following minimize the risks of outsourcing?

· Which of the following would NOT be considered in a make-or-buy decision?

· Which one of the three models has the greatest contribution margin per unit?

· Which one of the three models has the greatest contribution margin per machine-hour?

· Which one of the three product models should be produced first if management incorporates a short-run profit maximizing strategy?

· XYZ Company has offered to sell ______ units of the same part to PDF Corporation for $______ per unit. Assuming there is no other use for the facilities, PDF Corporation should (buy/make) the part because _____________________.

· XYZ Company is invited to bid on a one-time-only special order to supply 100 rustic tables. What is the lowest price XYZ Company should bid on this special order?

· XYZ Company is thinking of dropping Product C because it is reporting a loss. Assuming XYZ Company drops Product C and does not replace it, operating income will (increase/decrease) by $________.

